PNEUMATIC COUPLINGS

4 ' w
PNEUMATISCHE KUPPLUNGEN ™% =~ = 1708
v
s Y /////
j | V4 | /// ; %
/ /
| 2 @
Materials Material Code
A = Brass Nickel Plated
_|
ﬂ B = Brass Nickel Plated
— — ﬁl;l) I
| 2 C = Brass Nickel Plated
m
A S = Brass Nickel Plated
0- 35 bar ~20° to + 100°C (NBR) Shut Off
(0-508 PSI) -4° to + 212°F Type

OM 178 - 00765

580 It/min DN

OM 200 - 00450

Air Water
_ 0é650 60
= (05
g / 5,0
_Q ’
D 0.40 / 4o /
5 03 / E /
= 30
5 p.d g /
o 020 2 20 /
5 0 P 2 v
o 5 /
o // a 10 =
o P — o /
0 200 400 600 8 00 +—==
21.2) 0 5 10 15 20 25 30
Flow, CFM (I/min) Flow Rate in I/min
Options Plug Profile Serie 015 Compatible with
5;5: TST 060 Paradisi
CEJN 220

LQ)SJ

——@8.9—




PNEUMATIC COUPLINGS
PNEUMATISCHE KUPPLUNGEN

SERIE 015

QUICK COUPLINGS SCHNELLKUPPLUNGEN

—O with male thread —O- with female thread —O>-| with standard hose tail —O>'|Wlth panel mount stondclrd hose tail

L

Comeeio Paive v 00 E TN T

BSP1/8" | O15EG 10 BSP1/8" | 015 DG 10 36,5 4mm-1/6" 015 HG 04 4 mm-M10xT 015 MG 04

BSP 174" | 015EG 13 17 39 16 BSP1/4" | 015DG 13 17 385 16 6 mm -1/4" | 015 HG 06 14 47 16 5mm -M12x1 015 MG 05 17 61 16
BSP3/8" | 015EG17 | 19 | 39 16 BSP3/8" 015DG17 19 385/ 16 8mm-5/16"015HG08 14 47 16 6é6mm-M12x1 015MG06 17 61 16
NPT 1/8" 015TG10 | 14 39 16 NPT1/8" O015NG10 14 385 16 9mm-5/14" 015HGO09 14 47 16 8mm-M12x1 015MGO08 17 61 16
NPT 1/4" |015TG13 | 17 42 16 NPT1/4" OI5NG13 17 415 16 10mm-3/8"015HG10 14 47 16 10mm-M14x1 015MG10 17 61 16
NPT 3/8" O15TG17 19 45 16 NPT 3/8"  OI5NG17 19 415 16

—O>—| with panel mount plastic hose tail

— g—

31435 1SL
@D

f

SW,

—O>—| with plastic hose tail and spring

o/

Connection PartNo. [SW | L |@D Connection PartNo. [SW| L | @D Connection ‘ PartNo. |SW| L (@D
4x6mm-M10x1 015SG04 14 55 16 4x6mm-M10x1 015PG04 14 43 16 4x6mm-M10x1 021YG 04 14 1195 16
6x8mm-M12x1 015SG06 17 55 16 6x8mm-M12x1 015PG 06 14 43 16 6x8mm-M12x1 021YG 06 14 1245 16

PLUGS STECKNIPPEL

-<— with male thread ~<— with female thread -{— with standard hose tail ~<— with panel mount hose tail

L

=1 I T
1] - g
smﬁ SW, L

- Connection Part No. SW | L Connection ‘ Part No. L | @D Connection Part No.

BSP 1/8" 015DU 10 BSPT 178" | 015RU 10 11 28 4mm-1/6"  015HU04 33 9 4mm-M10x1 | 015MU 04 1

BSP 174" 015DU 13 17 31 BSPT 174" | O015RU 13 14 32 5mm-1/5" | 015HUO05 33 9 5mm-M12x1 015MU05 14 47
BSP 3/8" 015DU 17 20 32 BSPT 3/8" | O15RU17 17 34 6mm-1/4"  015HU 06 33 9 6mm-M12x1 | 0I5MU 06 14 47
NPT 1/8" 015NU 10 13 26 NPT 1/8" 015 TU 10 1 | 28 8 mm-5/16" 015HU 08 33 9 8mm-M12x1 | 015MU08 14 47
NPT 1/4" 015 NU 13 17 31 NPT 1/4" 015TU 13 14 33 9mm-5/14" 015HU 09 375 10 9mm-M12x1 | 015MUQ9 14 47
NPT 3/8" 015NU 17 20 32 NPT 3/8" 015 TU 17 17 | 34 10 mm-3/8" 015HU10 375 12 10 mm-M14x1 015MU10 17 47

~<— with panel mount plastic hose tail ~<£— with plastic hose tail -&— with plastic hose tail and spring
L L

Connection Part No. SW| L Connection Part No. L | @D Connection Part No. L | @D
4x 6 mm - M 10x1 015SU04 14 44 4x6mm-M10x1 | 015PUO04 32 10 4 x 6 mm - M 10x1 015YU04 105 10
6x8 mm -M 12x1 015SU06 17 44 6x8mm-M12x1 = 015PU06 32 12 6x8mm-M12x1 015YUO06 1125 12



